MATHS

BOOKS - MBD

LINEAR EQUATIONS IN ONE VARIABLE.

1. Solve the following equations.x -2 =7

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_i3sjQrcuje3X

2. Solve the following equations :Y + 3 = 10

o Watch Video Solution

3. Solve the following equations. 6=z + 2

o Watch Video Solution

4. Solve the following  equations.

3 17
—+ X = —
7 7

° Watch Video Solution



https://dl.doubtnut.com/l/_zl1MBg9cEJPM
https://dl.doubtnut.com/l/_mKKcvQ0fn6PY
https://dl.doubtnut.com/l/_sH511SEnf5mh

5. Solve the following equations. 6x = 12

o Watch Video Solution

t
6. Solve the following equations. 5= 10
o Watch Video Solution
. . 2
7.Solve the following equations. 5 = 18

o Watch Video Solution



https://dl.doubtnut.com/l/_sH511SEnf5mh
https://dl.doubtnut.com/l/_9RExQ18QrFl1
https://dl.doubtnut.com/l/_qcMx1z9m1bPj
https://dl.doubtnut.com/l/_CifEThUBxAU1

Y

8. Solve the following equations. 1.6 = TF

° Watch Video Solution

9. Solve the following equations. 7x - 9=16

° Watch Video Solution

10. Solve the following equations. 14y - 8 =13

° Watch Video Solution



https://dl.doubtnut.com/l/_CifEThUBxAU1
https://dl.doubtnut.com/l/_yoshzHBSzOdm
https://dl.doubtnut.com/l/_uQTGIKW5Wi1Q
https://dl.doubtnut.com/l/_YkKWOXJ4sADx

11. Solve the following equations. 17 + 6p = 9

o Watch Video Solution

12.  Solve the  following

equations.

o Watch Video Solution



https://dl.doubtnut.com/l/_YkKWOXJ4sADx
https://dl.doubtnut.com/l/_4448iVVh70pS
https://dl.doubtnut.com/l/_YWNueJ6m8Nsw

13. Solve the following equations :

20 —3 =17

o Watch Video Solution

14. Solve the following equations :

2y+9 =4

o Watch Video Solution



https://dl.doubtnut.com/l/_5SC4jiq8MOml
https://dl.doubtnut.com/l/_xXjlJaz73x31

15. Solve the following equations :

T 5 3
3 2 2

o Watch Video Solution

16. Solve the following equations :

15,
g T

o Watch Video Solution



https://dl.doubtnut.com/l/_9jMESzjVfofd
https://dl.doubtnut.com/l/_PqSYlPYH0qMC

17. Solve the following equations :

S 44— 2
TTEES

o Watch Video Solution

18. Solve the following equations :

xIr
2 %71

o Watch Video Solution



https://dl.doubtnut.com/l/_zVAXZPqToUt7
https://dl.doubtnut.com/l/_shOVzksoLE3X

19. Solve the following

equations.

o Watch Video Solution

20. Solve the following equations :

SYe —3 =7

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQrxEW7WoNDf
https://dl.doubtnut.com/l/_G4p8R3141S0W

21. Solve the following equations :

12y —7=9

o Watch Video Solution

22. Solve the following equations :

27 + 3p = 12

o Watch Video Solution



https://dl.doubtnut.com/l/_m76KZK1Uodfa
https://dl.doubtnut.com/l/_apjLe5Irg4jg

23. If you subtract 3 from a number and

1 1
multiply the result by 5> You getg. What is

the number?

o Watch Video Solution

24. The perimeter of a rectangular swimming
pool is 154 m. Its length is 2m more than twice
its breadth.What are the length and the

breadth of the pool ?

° Watch Video Solution



https://dl.doubtnut.com/l/_xYM9u0XAsY7V
https://dl.doubtnut.com/l/_kHJVwJXRIRna

4
25. The base of an isosceles triangle is 3 .

2
The perimeter of the triangle is 41—5 cm. What

is the length of either of the remaining equal

sides?

o Watch Video Solution

26. Sum of two numbers is 95. If one exceeds

the other by 15, find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_kHJVwJXRIRna
https://dl.doubtnut.com/l/_gkldtC5w1XWH
https://dl.doubtnut.com/l/_DA7m2ev8Zq8i

27. Two numbers are in the ratio 5:3. If they

differ by 18, what are the numbers?

o Watch Video Solution

28. Three consecutive integers add up to 51.

What are these integers?

o Watch Video Solution



https://dl.doubtnut.com/l/_OiLYz5v0w6xx
https://dl.doubtnut.com/l/_43NnSgHblz6s

29. The sum of three consecutive multiples of

8 is 888. Find the multiples.

° Watch Video Solution

30. Three consecutive integers are such that
when they are taken in increasing order and
multiplied by 2, 3 and 4 respectively, they add

up to 74. Find these numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_nchwQQGAj39s
https://dl.doubtnut.com/l/_IZN9al7BCCJa
https://dl.doubtnut.com/l/_ctpJ4zJL2OVB

31. The ages of Rahul and Haroon are in the
ratio 5:7. Four years later the sum of their ages

will be 56 years. What are their present ages?

o Watch Video Solution

32. The number of boys and girls in a class are
in the ratio 7:5. The number of boys is 8 more
than the number of girls. What is the total

class strength?

o Watch Video Solution



https://dl.doubtnut.com/l/_ctpJ4zJL2OVB
https://dl.doubtnut.com/l/_SJi8oVe9jBPu

33. Baichung’s father is 26 years younger than
Baichung’s grandfather and 29 years older
than Baichung. The sum of the ages of all the
three is 135 years. What is the age of each one

of them?

o Watch Video Solution

34. Fifteen years from now Ravis age will be
four times his present age. What is Ravi’s

present age?

| & I


https://dl.doubtnut.com/l/_uGvUmDtT9GG0
https://dl.doubtnut.com/l/_lDXcntKLOLB4

| ¥ Watch Video Solution |

35. A rational number is such that when you
. D 2
multiply it by 3 and add 3 to the product.

you get — 1—72 What is the number?

o Watch Video Solution

36. Lakshmi is a cashier in a bank. She has
currency notes of denominations Rs 100, Rs 50
and Rs 10, respectively. The ratio of the

number of these notes is 2:3:5. The total cash


https://dl.doubtnut.com/l/_lDXcntKLOLB4
https://dl.doubtnut.com/l/_x9MGRP9BdBIV
https://dl.doubtnut.com/l/_YMMJjn9drIt1

with Lakshmi is Rs 4,00,000. How many notes

of each denomination does she have?

° Watch Video Solution

37. | have a total of Rs 300 in coins of
denomination Rs 1, Rs 2 and Rs 5. The nhumber
of Rs 2 coins is 3 times the number of Rs 5
coins. The total number of coins is 160. How
many coins of each denomination are with

me?

° Watch Video Solution



https://dl.doubtnut.com/l/_YMMJjn9drIt1
https://dl.doubtnut.com/l/_o2sz062WgnQA

38. The organisers of an essay competition
decide that a winner in the competition gets a
prize of Rs 100 and a participant who does not
win gets a prize of Rs 25. The total prize
money distributed is Rs 3,000. Find the
number of winners, if the total number of

participants is 63.

o Watch Video Solution



https://dl.doubtnut.com/l/_o2sz062WgnQA
https://dl.doubtnut.com/l/_Ory7FZdGqiDu

39. Sum of two numbers is 74.0ne of the

number is 10 more than the otherWhat are

the numbers ?

o Watch Video Solution

40. What should be added to twice the

: —7
rational number 5 to get 7?

° Watch Video Solution



https://dl.doubtnut.com/l/_FMtsT1qYhmbt
https://dl.doubtnut.com/l/_ctQqVSpztMgH

41. The perimeter of a rectangle is 13 cm and

3
its width is 2Z cm. Find its length.

° Watch Video Solution

42. The present age of Sahil's mother is three
times the present age of Sahil. After 5 years
their ages will add to 66 years. Find their

present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_5EeJukmLHAAC
https://dl.doubtnut.com/l/_J8wOSEKCok5m
https://dl.doubtnut.com/l/_FCQg3a2SXf30

43. Sum of two numbers is 53 .If one exceeds

the other by 5,find the numbers.

° Watch Video Solution

44.Find a number which when multiplied by 7

and then reduced by 3 is equal to 53.

o Watch Video Solution



https://dl.doubtnut.com/l/_FCQg3a2SXf30
https://dl.doubtnut.com/l/_BdeN0yYR1D5W

45, Present age of Raman's mother is three
times Raman's age .
Five years henceher age will be 20 years more

than that of Raman.Find their present agers.

o Watch Video Solution

46. Bansi has 3 times as many two-rupee coins
as he has five-rupee coins. If he has in all a sum
of ° Rs 77, how many coins of each

denomination does he have?

| & I


https://dl.doubtnut.com/l/_TlwtqF7MM2hM
https://dl.doubtnut.com/l/_Tj7GaOWO57b4

| ¥ Watch Video Solution |

47. The sum of three consecutive multiples of

11is 363. Find these multiples.

o Watch Video Solution

48. The difference between two whole

numbers is 66. The ratio of the two numbers is

2 : 5. What are the two numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_Tj7GaOWO57b4
https://dl.doubtnut.com/l/_DcAHDgC3T6aU
https://dl.doubtnut.com/l/_2Uu6LWvIC4EO

49. Deveshi has a total of Rs 590 as currency
notes in the denominations of Rs 50, Rs 20
and Rs 10. The ratio of the number of Rs 50
notes and Rs 20 notes is 3:5. If she has a total
of 25 notes, how many notes of each

denomination she has?

o Watch Video Solution

50. The ratio of the present ages of Vijay and

Mohan is 4 : 5 After 5 years of the ratio of


https://dl.doubtnut.com/l/_FEG6wZ8j4ldT
https://dl.doubtnut.com/l/_FCaxOr6s8xzm

their ages will be 5: 6 .Find their present ages.

o Watch Video Solution

51. Solve the following equations and check

your result :

3r = 22 + 18

o Watch Video Solution

52. Solve the following equations and check

your results. 5t -3 =3t -5


https://dl.doubtnut.com/l/_FCaxOr6s8xzm
https://dl.doubtnut.com/l/_HPgIIpAGqE60
https://dl.doubtnut.com/l/_AJtbigqm2eP9

° Watch Video Solution

53. Solve the following equations and check

your results. 5x + 9 =5 + 3x

o Watch Video Solution

54. Solve the following equations and check

your results. 4z +3 =6 + 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_AJtbigqm2eP9
https://dl.doubtnut.com/l/_wko6msHPKp1i
https://dl.doubtnut.com/l/_aKUVSPSlHUu7
https://dl.doubtnut.com/l/_h4l45HuD2MvL

55. Solve the following equations and check

your results. 2x - 1=14 - x

o Watch Video Solution

56. Solve the following equations and check
your result :

WEhave:8z +4=3(z — 1) + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_h4l45HuD2MvL
https://dl.doubtnut.com/l/_R4IgpONTHV3Y

57. Solve the following equations and check

your result :
4
T = g(:c + 10).

o Watch Video Solution

58. Solve the following equations and check

your result :

T T
We h 22— +1=T7T—
e have 3+ 715—|—3

o Watch Video Solution



https://dl.doubtnut.com/l/_y4tQ0E9LTRZM
https://dl.doubtnut.com/l/_D9i6v4eT46Xo
https://dl.doubtnut.com/l/_v7ojfL5kXVSt

59. Solve the following equations and check

your result :
o+ 5 26
Ytz =3 ¥

o Watch Video Solution

60. Solve the following equations and check

your result :

8
3m = dm — —.

5

o Watch Video Solution



https://dl.doubtnut.com/l/_v7ojfL5kXVSt
https://dl.doubtnut.com/l/_StVUO3a0ZeEV
https://dl.doubtnut.com/l/_avSCPzFO5RUu

61. Solve the following equations and check

your result :

e — 7T =2x + 8

o Watch Video Solution

62. Solve the following equations and check
your result :

2

o Watch Video Solution



https://dl.doubtnut.com/l/_avSCPzFO5RUu
https://dl.doubtnut.com/l/_29mlvGfv9FgR

63. Solve the following equations and check
your result :

2c — 3 =x + 2

o Watch Video Solution

64. Solve the following equations and check

your result :

52z—3=3z—5

o Watch Video Solution



https://dl.doubtnut.com/l/_KUK0UBKVi6Gz
https://dl.doubtnut.com/l/_peZLbLHFRu5J
https://dl.doubtnut.com/l/_gqxvvbKSrjiK

65. Solve the following equations and check

your result :

3r —7T=2x — 5

o Watch Video Solution

66. Solve the following equations and check

your result :

3p—5=4p—9

o Watch Video Solution



https://dl.doubtnut.com/l/_gqxvvbKSrjiK
https://dl.doubtnut.com/l/_oM3cUbxHbqk6
https://dl.doubtnut.com/l/_sVBEUk2DjEVq

67. Solve the following equations and check

your result :
x 1_a:_|_1
2 4 3 2

o Watch Video Solution

68. Solve the following equations and check

your result :
9T + r_3 14

o Watch Video Solution



https://dl.doubtnut.com/l/_sVBEUk2DjEVq
https://dl.doubtnut.com/l/_xwFMpDEAi4pW

69. Solve the following equations and check

your result :

8
Tr = b — —

5

o Watch Video Solution

70. Solve the following equations and check

your result :
3
m = Z(m + 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_JtGmcWo6FTfj
https://dl.doubtnut.com/l/_NsnX0nqn4Ybd
https://dl.doubtnut.com/l/_NJTahqBInM5J

71. Amina thinks of a number and subtracts 3
from it. She multiplies the result by 8. The

result now obtained is 3 times the same

number she thought of. What is the number?

o Watch Video Solution

72. A positive number is 5 times another
number. If 21 is added to both the numbers,
then one of the new umbers becomes twice
the other new number. What are the

numbers?


https://dl.doubtnut.com/l/_NJTahqBInM5J
https://dl.doubtnut.com/l/_8xITCsMuQZDh

° Watch Video Solution

73.Sum of the digits of a two - digit number is
9.When we interchange the digitss, it is found
that the resulting new number is greater than
the original number by 27.What is the two

digit number ?

° Watch Video Solution



https://dl.doubtnut.com/l/_8xITCsMuQZDh
https://dl.doubtnut.com/l/_vxj42OaFnX02

74. One of the two digits of a two - digit
number is three times the other digit.If you
interchange the digits of this two-digit
number and add the resulting number to the
original numer , you get 88What is the

original number ?

o Watch Video Solution

75. Shobo's mother 's present age is six times

Shobo's preset age.Shobo's age five years from


https://dl.doubtnut.com/l/_bj5mX04btG5j
https://dl.doubtnut.com/l/_VUk9kzL4xQv2

now will be one third of his mother's present

age.What are their present ages ?

° Watch Video Solution

76. There is a narrow rectangular plot,
reserved for a school, in Mahuli village. The
length and breadth of the plot are in the ratio
11:4. At the rate Rs 100 per metre it will cost
the village panchayat Rs 75000 to fence the

plot. What are the dimensions of the plot?

° Watch Video Solution



https://dl.doubtnut.com/l/_VUk9kzL4xQv2
https://dl.doubtnut.com/l/_n1uYBjRtI6nF

77.Hasan buys two kinds of cloth materials for
school uniforms, shirt material that costs him
Rs 50 per metre and trouser material that
costs him Rs 90 per metre. For every 3 meters
of the shirt material he buys 2 metres of the
trouser material. He sells the materials at 12%
and 10% profit respectively. His total sale is Rs
36,600. How much trouser material did he

buy?

o Watch Video Solution



https://dl.doubtnut.com/l/_n1uYBjRtI6nF
https://dl.doubtnut.com/l/_O6BpR7JZZbio
https://dl.doubtnut.com/l/_W0JlRB9bItYd

78. Half of a herd of deer are grazing in the
field and three fourths of the remaining are
playing nearby. The rest 9 are drinking water

from the pond. Find the number of deer in the

herd.

° Watch Video Solution

79. A grandfather is ten times older than his
granddaughter. He is also 54 years older than

her. Find their present ages.

| €8


https://dl.doubtnut.com/l/_W0JlRB9bItYd
https://dl.doubtnut.com/l/_lyLkHQdFOG9O

| ¥ Watch Video Solution J

80. Aman’s age is three times his son’s age. Ten
years ago he was five times his son’s age. Find

their present ages.

o Watch Video Solution

81. Mohan thinks a number.f he takes away 7
from 5/2 of the numberthe result is 11/2 What

is the number?

o Watch Video Solution



https://dl.doubtnut.com/l/_lyLkHQdFOG9O
https://dl.doubtnut.com/l/_hDIZKQYZ2taB
https://dl.doubtnut.com/l/_pnh3vgvIR2ZQ

82. The digits of a two-digit number differ by 3.
If the digits are interchanged, and the
resulting number is added to the original
number, we get 143. What can be the original

number?

o Watch Video Solution

83. The sum fo digits of a two-digits number is

9.If 27 is subtracted from the number then


https://dl.doubtnut.com/l/_pnh3vgvIR2ZQ
https://dl.doubtnut.com/l/_7dWu16UZkOxf
https://dl.doubtnut.com/l/_GItoHdeRLg4c

digit interchange their places. Find the

number.

° Watch Video Solution

84. A number consists of two digits.Sum of its
digits is 15.If the place of digits are
interchanged then the number so obtained is
9 less than the original number. Find the

original number.

° Watch Video Solution



https://dl.doubtnut.com/l/_GItoHdeRLg4c
https://dl.doubtnut.com/l/_1WNrxw0Lscmx
https://dl.doubtnut.com/l/_LZr9ufC8nVS3

85. Arjun is twice as old as Shriya. Five years
ago his age was three times Shriya’s age. Find

their present ages.

° Watch Video Solution

86. Sandeep's father's age is 5 years more than
three times Sandeep's age.Find Sandeep's age,

if his father is 44 years old.

° Watch Video Solution



https://dl.doubtnut.com/l/_LZr9ufC8nVS3
https://dl.doubtnut.com/l/_ad7OdHs5R4hy
https://dl.doubtnut.com/l/_Q5r0nE0VcDlC

87. Length of a rectangle exceeds its breadth
by 5 m.f perimeter of the rectangle is 38
m,find the length and breadth of the

rectangle.

° Watch Video Solution

88. Three numbers are in the ratio 4 : 5: 6 .if
the sum of the largest and the smallest equals

the sum of the third and 55.Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5r0nE0VcDlC
https://dl.doubtnut.com/l/_AQetE0V0BAWN
https://dl.doubtnut.com/l/_XQU7wb93NCpo

89. Solve the following linear equations :

1 1
5 4

_|_

z z
2 3

° Watch Video Solution

90. Solve the following linear equations :
3n on

= 21
4+6

n
2

o Watch Video Solution



https://dl.doubtnut.com/l/_XQU7wb93NCpo
https://dl.doubtnut.com/l/_fRGOWcMxlArV

91. Solve the following linear equations :

L7 8w_17 5%
v 36 2

o Watch Video Solution

92. Solve the following linear equation:
r—>5 z=—3
3 5

o Watch Video Solution



https://dl.doubtnut.com/l/_tGdSHa0oz5aR
https://dl.doubtnut.com/l/_xZ20f7aXbsSI

93. Solve the following linear equations :

3t—2 2t+3 2

4 3 3

o Watch Video Solution

94. Solve the following linear equation:

m+ 1 m — 2
m — =1- )

2 3

o Watch Video Solution



https://dl.doubtnut.com/l/_hkiiELEqOvtr
https://dl.doubtnut.com/l/_DVFQL7gcgVBW

95. Solve the following linear equation:

3(t — 3) = 5(2t + 1).

o Watch Video Solution

96. Solve the following linear equation:

15(y —4) —2(y—9) + 5(y + 6) = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_zIdC12z3CHtZ
https://dl.doubtnut.com/l/_8tFP2ZmoIC38

97. Solve the following linear equation:

3(5z — 7) — 2(9z — 11) = 4(8z — 13).

o Watch Video Solution

98. Simplify and solve the following linear

equations : 0.25(4f - 3) = 0.05(10f - 9)

o Watch Video Solution



https://dl.doubtnut.com/l/_uq8wF1ieRKgD
https://dl.doubtnut.com/l/_PafyTa5X9t3t

99. Solve the following linear equation:

T 3 T
§+§—2g—1

o Watch Video Solution

100. Solve the following linear equation:

m_Ll1_m .
4 2 6 '

o Watch Video Solution



https://dl.doubtnut.com/l/_tILDoSQaB85C
https://dl.doubtnut.com/l/_5mPzZcGxDryk

101. Solve the following linear equation:

3/4 (p-1) = p-3..

o Watch Video Solution

102. Solve the following linear equation:

6:13+1+1_ r — 3
3 6

o Watch Video Solution



https://dl.doubtnut.com/l/_LhtPiCQbBnx6
https://dl.doubtnut.com/l/_9DwGytCi5TWK

103. Solve the following linear equation:

20 +7 3z +11  2x+8

5 2 3 o

o Watch Video Solution

104. Solve the following linear equation:

m + 1 m — 2
m — =1- :

2 3

o Watch Video Solution



https://dl.doubtnut.com/l/_CyRuD1LUFVwP
https://dl.doubtnut.com/l/_bq2CgJGO0NH6

105. Simplify and solve the following linear
equations :

br —2(2x —7) =2(3z — 1) + ;

o Watch Video Solution

106. Simplify and solve the following linear

equations : 15(y - 4) -2(y -9) + 5(y +6) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_lJaVEPpRW8qd
https://dl.doubtnut.com/l/_kSzrcuS8UqK6

107. Simplify and solve the following linear

equations :

0.25(4y — 3) = 0.5y — 9

o Watch Video Solution

108. Simplify and solve the following linear

equations :

2(5z — 3) — 3(2z — 1) = 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_Qk19HIK9ZCiR
https://dl.doubtnut.com/l/_UywL81Yupq61
https://dl.doubtnut.com/l/_GTltoXMSD4vv

109. Solve the following equations.
8r —3 5

3r

o Watch Video Solution
10. Solve the following equations.

o Watch Video Solution



https://dl.doubtnut.com/l/_GTltoXMSD4vv
https://dl.doubtnut.com/l/_sRIc8XEeFPvr

1M1. Solve the following  equations.
z 4

z+15 9

o Watch Video Solution

2. Solve the following equations.

Jy+4 -2
2—-6y 5

° Watch Video Solution



https://dl.doubtnut.com/l/_zmnhsm4MGRo8
https://dl.doubtnut.com/l/_pqyzcGM4doWx

13. Solve the following  equations.

y+4 -4

y+ 2 3

o Watch Video Solution

114. The ages of Hari and Harry are in the ratio
5:7. Four years from now the ratio of their

ages will be 3:4. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_M5T9HiePhrCD
https://dl.doubtnut.com/l/_19tZjAfI3zep

115. The denominator of a rational number is
greater than its numerator by 8. If the
numerator is increased by 17 and the
denominator is decreased by 1, the number

obtained is 7 Find the rational number

o Watch Video Solution

116. Solve for the value of x :

Sr — 7

3 r =2

° Watch Video Solution



https://dl.doubtnut.com/l/_dmOTq2LVyvxJ
https://dl.doubtnut.com/l/_eaCM5bUXUZyJ

117. Solve for the value of x :

o Watch Video Solution

118. Solve for the value of x :

2— 2z 3

Z+16 b

° Watch Video Solution



https://dl.doubtnut.com/l/_eaCM5bUXUZyJ
https://dl.doubtnut.com/l/_iCMLIJJHN4e6
https://dl.doubtnut.com/l/_6zkZ7pCicv6Q

119. Solve for the value of x :

(2y + 3)/(y-9) = 2/7°

o Watch Video Solution

120. Solve for the value of x :

dr +7 1

9 — 3z 4

o Watch Video Solution



https://dl.doubtnut.com/l/_IiI7ATajGSbV
https://dl.doubtnut.com/l/_MUhnBJ8gvSm1

121. Solve for the value of x :

o Watch Video Solution

122. Solve for the value of x :

Shr — 4 3x + 10
5 _43z:+1—T

o Watch Video Solution



https://dl.doubtnut.com/l/_hpGFvCsspGv3
https://dl.doubtnut.com/l/_ncTDT1shxawa

123. Ankit is now 9 years older than Bobby.In 10
years, Ankit will be twice as old as Bobby was

10 years ago.Find their present ages.

o Watch Video Solution

124. Divide 4500 into two parts such that 5%

of the first is equal to 10% of the second part.

° Watch Video Solution



https://dl.doubtnut.com/l/_akIl6YvVPuGI
https://dl.doubtnut.com/l/_WBzsHsC9RNSy

125. The width of a rectangle is two - thirds its
length.If the perimeter is 180 metres.Find the

dimensions of the rectangle.

o Watch Video Solution

126. Present ages of Anu and Raj are in the
ratio 4 : 5.Eight years from now the ratio of

their ages will be 5: 6.Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_BwNU8liSu5IT
https://dl.doubtnut.com/l/_k7BXzPiQ42Rc
https://dl.doubtnut.com/l/_7T642z0temgc

127. The denominator of a rational number is
greater than its numerator by 8.If the
numerator is increased by 17 and the
denominator is decreased by 1the number

obtained is 3/2.Find the rational number.

o Watch Video Solution

128. In the equation x-2 =7 ,the value of x is :

A7

B.9


https://dl.doubtnut.com/l/_7T642z0temgc
https://dl.doubtnut.com/l/_S3tCb7kPmzKo

C.5

D. 2

Answer:

° Watch Video Solution

129. In the equation 6 =z + 2, the value of z is :

A 4

B.8

C.2


https://dl.doubtnut.com/l/_S3tCb7kPmzKo
https://dl.doubtnut.com/l/_875nab0pGMew

Answer:

o Watch Video Solution

130. The value of x in the equation 6x =12 is :

A.6


https://dl.doubtnut.com/l/_875nab0pGMew
https://dl.doubtnut.com/l/_SsUs52JCUmN4

Answer:

o Watch Video Solution

131. — =10

A2

Answer:


https://dl.doubtnut.com/l/_SsUs52JCUmN4
https://dl.doubtnut.com/l/_k6SAw0ZwjOGW

° Watch Video Solution

132. — =18

A. 54

B. 27

C.9

D. 36

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_k6SAw0ZwjOGW
https://dl.doubtnut.com/l/_3vzLEzbFlTIB

133. Two numbers are in the ratio 5:3. If they

differ by 18, what are the numbers?

A.25and 7

B. 51 and 33

C.45 and 27

D. None of these.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3vzLEzbFlTIB
https://dl.doubtnut.com/l/_6SSDuSE3mguf
https://dl.doubtnut.com/l/_FVYYy8m2Qc1l

134. Sum of two numbers is 95. If one exceeds

the other by 15, find the numbers.

A. 40,55

B.30,45

C. 2540

D. 45,60.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FVYYy8m2Qc1l
https://dl.doubtnut.com/l/_rVOgRhWbvvxi

135. Fifteen years from now Ravi’s age will be

four times his present age. What is Ravi’s

present age?

A. 15 years

B. 10 years

C. 5 years

D. 8 years.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rVOgRhWbvvxi
https://dl.doubtnut.com/l/_3Us3OmuwQUo5

136. In the equation 3x=2x + 18, the value of z is

A.9

B.10

C.12

D. 15

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3Us3OmuwQUo5

137. What will be the value of x:-5x + 25 = Q.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xPr87PLRv7zR

138. Solve the equation:x/2 = 3/2°

A 4

B.3

C.5

D.6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xKTyVjGZYkQV

139. When 4 is added to three times of a

number the result becomes 6.What will be the

equation?

A 4x+3=6

B.3x+4=6

C.ex+3=4

D.—6x +3 =4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_x6FU5gSMNutY

140. When 10 is subtraced from two times of a

number , the result becomes 4.What will be

the eqution ?

A.10x-2=4

B. 2x-10 =4

C.4x-12=6

D.—4x +10 = 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jUCMc6wQcO89




